



2

7. Let  $R_j : \mathbb{L}^2(\mathbb{F}_2) \rightarrow \mathbb{L}^2(\mathbb{F}_2)$  be defined by

$$R_j(a_0\delta_0 + a_1\delta_1) = a_0\delta_0 + \omega_1 a_1\delta_1.$$

Recall the Fourier transform  $\mathcal{F}_2 : \mathbb{L}^2(\mathbb{F}_2) \rightarrow \mathbb{L}^2(\mathbb{F}_2)$

$$\mathcal{F}_2(a_0\delta_0 + a_1\delta_1) = a_0 \frac{1}{\sqrt{2}}(\delta_0 + \delta_1) + a_1 \frac{1}{\sqrt{2}}(\delta_0 - \delta_1) = \frac{a_0 + a_1}{\sqrt{2}}\delta_0 + \frac{a_0 - a_1}{\sqrt{2}}\delta_1$$

Check that for  $x_0 = 0, 1, x_1 = 0, 1, \dots$ ,

$$\begin{aligned} \mathcal{F}_2\delta_{x_0} &= \frac{1}{\sqrt{2}}(\delta_0 + \omega_1^{x_0}\delta_1) \\ R_2\mathcal{F}_2\delta_{x_1} &= \frac{1}{\sqrt{2}}(\delta_0 + \omega_1^{x_1}\omega_2^{x_0}\delta_1) \\ &\dots \quad \text{dots} \\ R_2R_3\dots R_n\mathcal{F}_2\delta_{x_{n-1}} &= \frac{1}{\sqrt{2}}(\delta_0 + \omega_1^{x_1}\omega_2^{x_0}\dots\omega_n^{x_{n-1}}\delta_1). \end{aligned}$$

8. Deduce from 6 and 7 that

$$\mathcal{F}_{2^n}(\delta_{x_{n-1}} \otimes \dots \otimes \delta_{x_0}) = (\mathcal{F}_2\delta_{x_0}) \otimes (R_2\mathcal{F}_2\delta_{x_1}) \otimes \dots \otimes (R_2R_3\dots R_n\mathcal{F}_2\delta_{x_{n-1}}).$$